

$$35) \quad \frac{1}{x(x+2)} = \frac{A}{x} + \frac{B}{x+2} = \frac{A(x+2) + Bx}{x(x+2)} \Rightarrow A(x+2) + Bx = 1$$

$$\text{When } x=0, A(0+2) + B \cdot 0 = 1 \Rightarrow A \cdot 2 = 1 \Rightarrow A = \frac{1}{2}.$$

$$\text{When } x=-2, A(-2+2) + B \cdot (-2) = 1 \Rightarrow B \cdot (-2) = 1 \Rightarrow B = -\frac{1}{2}.$$

$$\int \frac{1}{x(x+2)} dx = \int \left(\frac{\frac{1}{2}}{x} + \frac{-\frac{1}{2}}{x+2} \right) dx = \frac{1}{2} \int \frac{1}{x} dx - \frac{1}{2} \int \frac{1}{x+2} dx$$

$$= \frac{1}{2} \ln|x| - \frac{1}{2} \ln|x+2| + C = \frac{1}{2} (\ln|x| - \ln|x+2|) + C = \frac{1}{2} \ln \left| \frac{x}{x+2} \right| + C = \ln \left(\sqrt{\left| \frac{x}{x+2} \right|} \right) + C$$

$$37) \quad \frac{x}{1-x^2} = \frac{x}{(1+x)(1-x)} = \frac{A}{1+x} + \frac{B}{1-x} = \frac{A(1-x) + B(1+x)}{(1+x)(1-x)} \Rightarrow A(1-x) + B(1+x) = x$$

$$\text{When } x=-1, A(1-(-1)) + B(1+(-1)) = -1 \Rightarrow A \cdot 2 = -1 \Rightarrow A = -\frac{1}{2}.$$

$$\text{When } x=1, A(1-1) + B(1+1) = 1 \Rightarrow B \cdot 2 = 1 \Rightarrow B = \frac{1}{2}.$$

$$\int \frac{x}{1-x^2} dx = \int \left(\frac{-\frac{1}{2}}{1+x} + \frac{\frac{1}{2}}{1-x} \right) dx = -\frac{1}{2} \int \frac{1}{x+1} dx - \frac{1}{2} \int \frac{1}{x-1} dx$$

$$= -\frac{1}{2} \ln|x+1| - \frac{1}{2} \ln|x-1| + C = -\frac{1}{2} (\ln|x+1| + \ln|x-1|) + C$$

$$= -\frac{1}{2} \ln|(x+1)(x-1)| + C = -\frac{1}{2} \ln|(x^2-1)| + C = -\ln|(x^2-1)|^{\frac{1}{2}} + C$$

$$= -\ln \left(\sqrt{|x^2-1|} \right) + C = \ln \left(\frac{1}{\sqrt{|x^2-1|}} \right) + C$$

$$39) \quad \frac{x}{(x+2)^2} = \frac{A}{x+2} + \frac{B}{(x+2)^2} = \frac{A(x+2) + B}{(x+2)^2} \Rightarrow A(x+2) + B = x$$

$$\text{When } x=-2, A(-2+2) + B = -2 \Rightarrow B = -2.$$

$$\text{When } x=0, A(0+2) + B = 0 \Rightarrow A \cdot 2 + (-2) = 0 \Rightarrow A = 1.$$

$$\int \frac{x}{(x+2)^2} dx = \int \left(\frac{1}{x+2} + \frac{-2}{(x+2)^2} \right) dx = \int \frac{1}{x+2} dx - 2 \int \frac{1}{(x+2)^2} dx$$

$$= \ln|x+2| - 2 \cdot \frac{1}{-1} \cdot \frac{1}{x+2} + C = \ln|x+2| + \frac{2}{x+2} + C$$

$$41) \quad \frac{3x}{(x+1)^2(x+2)} = \frac{A}{x+1} + \frac{B}{(x+1)^2} + \frac{C}{x+2} = \frac{A(x+1)(x+2) + B(x+2) + C(x+1)^2}{(x+1)^2(x+2)}$$

$$\Rightarrow A(x+1)(x+2) + B(x+2) + C(x+1)^2 = 3x$$

$$\text{When } x = -1, A(-1+1)(x+2) + B(-1+2) + C(-1+1)^2 = 3 \cdot -1 \Rightarrow B = -3.$$

$$\text{When } x = -2, A(-2+1)(-2+2) + B(-2+2) + C(-2+1)^2 = 3 \cdot -2 \Rightarrow C = -6.$$

$$\text{When } x = 0, A(0+1)(0+2) + B(0+2) + C(0+1)^2 = 3 \cdot 0$$

$$\Rightarrow A \cdot 2 + -3 \cdot 2 + -6 \cdot 1 = 0 \Rightarrow A \cdot 2 - 12 = 0 \Rightarrow A = 6.$$

$$\int \frac{3x}{(x+1)^2(x+2)} dx = \int \left(\frac{6}{x+1} + \frac{-3}{(x+1)^2} + \frac{-6}{x+2} \right) dx$$

$$= 6 \int \frac{1}{x+1} dx - 3 \int \frac{1}{(x+1)^2} dx - 6 \int \frac{1}{x+2} dx$$

$$= 6 \ln|x+1| - 3 \cdot \frac{1}{-1} \cdot \frac{1}{x+1} - 6 \ln|x+2| + C = 6 \ln|x+1| + \frac{3}{x+1} - 6 \ln|x+2| + C$$

$$= 6 \ln \left| \frac{x+1}{x+2} \right| + \frac{3}{x+1} + C = \ln \left[\left(\frac{x+1}{x+2} \right)^6 \right] + \frac{3}{x+1} + C$$

$$43) \quad \frac{x^2}{x^2-1} = x^2 - 1 \sqrt{x^2-1} = 1 + \frac{1}{x^2-1} = 1 + \frac{1}{(x+1)(x-1)} = 1 + \frac{A}{x+1} + \frac{B}{x-1}$$

$$= 1 + \frac{A(x-1) + B(x+1)}{(x+1)(x-1)} \Rightarrow A(x-1) + B(x+1) = 1$$

$$\text{When } x = -1, A(-1-1) + B(-1+1) = 1 \Rightarrow A \cdot -2 = 1 \Rightarrow A = -\frac{1}{2}.$$

$$\text{When } x = 1, A(1-1) + B(1+1) = 1 \Rightarrow B \cdot 2 = 1 \Rightarrow B = \frac{1}{2}.$$

$$\int \frac{x^2}{x^2-1} dx = \int \left(1 + \frac{-\frac{1}{2}}{x+1} + \frac{\frac{1}{2}}{x-1} \right) dx = \int 1 dx - \frac{1}{2} \int \frac{1}{x+1} dx + \frac{1}{2} \int \frac{1}{x-1} dx$$

$$= x - \frac{1}{2} \ln|x+1| + \frac{1}{2} \ln|x-1| + C = x + \frac{1}{2} \ln \left| \frac{x-1}{x+1} \right| + C = x + \ln \left(\sqrt{\left| \frac{x-1}{x+1} \right|} \right) + C$$

$$45) \frac{x^3}{x^2-3x+2} = x^2-3x+2 \overbrace{\frac{x+3}{x^3-3x^2+2x}} = x+3 + \frac{7x-6}{x^2-3x+2} = x+3 + \frac{7x-6}{(x-1)(x-2)}$$

$$= x+3 + \frac{A}{x-1} + \frac{B}{x-2} = x+3 + \frac{A(x-2)+B(x-1)}{(x-1)(x-2)} \Rightarrow A(x-2)+B(x-1)=7x-6$$

When $x=1$, $A(1-2)+B(1-1)=7 \cdot 1-6 \Rightarrow A \cdot -1=1 \Rightarrow A=-1$.

When $x=2$, $A(2-2)+B(2-1)=7 \cdot 2-6 \Rightarrow B=8$.

$$\int \frac{x^3}{x^2-3x+2} dx = \int \left(x+3 + \frac{-1}{x-1} + \frac{8}{x-2} \right) dx$$

$$= \int x dx + \int 3 dx - \int \frac{1}{x-1} dx + 8 \int \frac{1}{x-2} dx$$

$$= \frac{1}{2}x^2 + 3x - \ln|x-1| + 8 \ln|x-2| + C$$

$$= \frac{1}{2}x^2 + 3x + \ln \left| \frac{(x-2)^8}{x-1} \right| + C$$

$$47) \frac{1}{x(ax+b)} = \frac{A}{x} + \frac{B}{ax+b} = \frac{A(ax+b)+Bx}{x(ax+b)} \Rightarrow A(ax+b)+Bx=1$$

When $x=0$, $A(a \cdot 0+b)+B \cdot 0=1 \Rightarrow A \cdot b=1 \Rightarrow A=\frac{1}{b}$.

When $x=-\frac{b}{a}$, $A(a \cdot -\frac{b}{a}+b)+B \cdot -\frac{b}{a}=1 \Rightarrow B \cdot -\frac{b}{a}=1 \Rightarrow B=-\frac{a}{b}$.

$$\int \frac{1}{x(ax+b)} dx = \int \left(\frac{\frac{1}{b}}{x} + \frac{-\frac{a}{b}}{ax+b} \right) dx = \frac{1}{b} \int \frac{1}{x} dx - \frac{1}{b} \int \frac{a}{ax+b} dx$$

$$= \frac{1}{b} \ln|x| - \frac{1}{b} \ln|ax+b| + C = \frac{1}{b} (\ln|x| - \ln|ax+b|) + C$$

$$= \frac{1}{b} \ln \left| \frac{x}{ax+b} \right| + C = \ln \left(\sqrt[|b|]{\left| \frac{x}{ax+b} \right|} \right) + C$$